0.10 < ¢* < 0.98 GeV? /¢t

1.1 < ¢? < 2.0GeV?/c*

2.0 < ¢? < 3.0CGeV?/c?

3.0 < ¢ <4.0GeV?/ct

A, 0.242 15028 +0.026 0.768 0130 £0.025 0.690 70:383 +0.023 0.873 0108 £0.023
S —0.014 15:029 +0.008 0.065 +9-157 +0.007 0.006 79100 + 0.007 0.078 70133 + 0.008
Su 0.039 70951 +0.015 0.127 70130 +0.027 —0.339 70115 +0.041 —0.046 70155 4 0.046
Ss 0.129015:9%8 + 0.011 0.286 75155 4+ 0.009 0.206 25131 +0.009 —0.110 7155 +0.004
Arp —0.138 0:003 £ 0.072 —0.333 10135 £0.012 —0.158 10050 4 0.008 —0.041 13951 £ 0.002
Sy 0.038 £9-963 + 0.009 —0.293 19180 4 0.005 —0.252 70127 +0.002 0.171 75175 £ 0.002
Sg 0.063 £9-979 + 0.009 —0.114 73185 4 0.006 —0.176 73149 4 0.006 0.097 15159 £ 0.002
So —0.113 +0-00% + 0.004 —0.110 £9-132 £+ 0.001 —0.000 9109 £ 0.003 —0.203 10133 £ 0.002
See —0.09870132 1 0.005 —0.01070:223 + 0.003 —0.23970-28 1 0.001 —0.03175:352 £ 0.000
4.0 < ¢® <5.0GeV?/ct 5.0 < ¢? < 6.0CGeVZ/c* 6.0 < ¢*> <7.0GeV?/ct 7.0 < ¢? < 8.0CeV?/ct
F 0.899 10109 £ 0.023 0.644 70139 +0.025 0.644 70-9%9 +0.025 0.609 70095 + 0.025
S 0.200 F9-30% +0.007 —0.122 3139 4+ 0.009 —0.069 3959 4+ 0.004 —0.054 739057 4 0.005
Sy —0.148 13154 4 0.047 —0.273731% 4 0.048 —0.311 7311 4 0.052 —0.236 70135 £ 0.058
Ss —0.306 7013} 4 0.004 —0.095 70137 + 0.004 —0.339 7019% + 0.008 —0.386 10152 £ 0.007
Arp 0.052 F9-080 + 0.004 0.057 +9-955 4 0.006 0.058 +9-95¢ 4 0.009 0.241 3980 +0.012
Sy —0.082 9139 + 0.001 0.038 +9-135 4 0.002 0.009 +9123 4 0.004 —0.094 75135 £0.003
Sg 0.107 £5:175 £ 0.003 —0.037 1315 £ 0.003 0.080 9134 £ 0.002 —0.295 10130 £ 0.002
Sy 0.181 F3-355 4+ 0.001 —0.080 137 4 0.001 0.061 T9-951 4 0.001 0.030 *9-09 4 0.001
See 0.485+9-399 + 0.001 0.44779-328 1 0.001 0.21979-215 4 0.002 0.24979352 £ 0.002
11.0 < ¢ < 11.75GeV2 /c* 1175 < ¢ < 12.5GeV2 /¢ 15.0 < 2 < 16.0GeVZ /et 16.0 < ¢* < 17.0 GeV?/c*
133 0.502 F5-599 + 0.022 0.734 10057 +0.018 0.385 10957 +0.013 0.295 *3-9% 4 0.013
S; —0.217 3977 + 0.008 —0.157 73959 4+ 0.008 —0.060 3985 4+ 0.006 —0.250 £9:059 £ 0.007
S, —0.252 70:095 £ 0.063 —0.309 +0:997 £ 0.056 —0.321 13982 + 0.007 —0.246 79-983 4 0,029
Ss —0.235 10995 + 0.013 —0.366 73995 +0.012 —0.360 *3-973 4 0.006 —0.254 13559 + 0.010
App 0.370 £9:976 + 0.015 0.293 +9:954 4 0.014 0.396 +9:9% 4 0.009 0.451 75:07% £ 0.007
Sz —0.110 2519 + 0.002 —0.212 53119 + 0.002 0.040 £5:592 4+ 0.002 0.144 10091 4 0.005
Sg —0.079 10139 +0.003 —0.090 *3-19% 4 0.003 —0.057 3953 4 0.005 0.055 +3-9%0 4 0.005
Sy —0.084 70957 +0.003 0.030 +3:993 4 0.002 —0.054 70983 4+ 0.005 —0.014 79088 + 0.004
See 0.082+9-225 £ 0.003 0.39279-25% + 0.004 —0.273+31%% + 0.004 —0.11270:137 £ 0.003
17.0 < ¢ < 18.0GeV?/c*  18.0 < ¢ <19.0GeV? /¢! 15.0 < ¢® < 19.0GeV? /¢t

A, 0.363 70-078 £ 0.017 0.421 79150 +0.013 0.357 70032 +£0.011

Sy —0.099 70:055 +0.011 —0.131 70135 £0.012 —0.135 70086 £ 0.012

S, —0.229 10000 £ 0.045 —0.607 £3-155 +0.059 —0.314 13946 1 0.027

Ss —0.305 70081 +0.015 —0.534 70131 +0.015 —0.335 70931 + 0.007
Arp 0.274+9:969 4+ 0.008 0.354 +-111 4 0.012 0.367 70:035 £ 0.007

Sy 0.02215:05% +0.011 0.058 15123 4+ 0.006 0.066 79:949 4+ 0.014

Sg —0.007 3958 4+ 0.001 0.149 *9-139 +0.010 0.024 *9-919 4+ 0.009

So —0.090 70952 + 0.002 —0.079 70122 4+ 0.007 —0.056 70015 +0.014

See —0.19575-155 1 0.003 0.18779251 4 0.001 —0.125 70083 £ 0.032




